normalized X?

107}
1072
1073k
107F
10°F
o160
I A uenAaa iaancAtA Ao etnte
: LA
1 T
DENBEEEEEEE
0 2 4 6 8 10 12 14 16 18 20 0 0.102030.40506070809 1
X Prob(x?)
mmmm= DQM_mkFit_baseline
e DQM_mkFit_baseline6iter
wmm— DQM_mkFit_TT_RetrainV2_WP1_6iter_ep3
L7 : : g E
s F s E
c F N . A 4F-
Z 18] PR [EET SRR & - 3
< F : : = o
\Y — E
[0 SNk CEECPRTTRT PRPPRESPPPPPIRPEY CFEEE B E
[ o 2F
. Voo
oF-
_12_.
_22_.
_32_.
,42_.
o+ o +Bf ! !
3 T ! !
x x ! !
£
0832 1 0 2 3
TP n (PCA to beamline)
A C A F
2 183 2 18F-
U < 1.6f-
\" \" -
1.6| 1.4F-
1.4F 1.2F
1.2 ¥
0.8F-
En 0.6F
0.8 0.4F
0.6 02k
o v o GF
© T
@ @
- 0.5F
o 1 10 1(l)2 0 10° 1072 1071
&T AR(track, jet?
S
A 4AF
A
- 3:_
o F
o 2F-
\% E
iE-
oF-
_lz_.
_2;_.
_3;_.
_42_.
9 w5
©
24
h
0.95 L .
107 1 10% Jo

[ normalized x? probability |




	Contents
	Page 1


